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Easy
	1
	Weili`s salary is $1300 a month. Each month, he spends $585 on food. What percentage of his salary is spent on food?
Weili spent 45# on food.

	2
	Mary spends 30# of her savings on a computer and 60# of the remainder on a dress. What percentage of her savings is left?
Percentage of Mary`s savings left is 28#.

	3
	Siti deposited $1500 in a bank. The bank paid 0.5# interest per year. How much money did she receive as interest after 1 year?

Siti received $7.50 as interest after 1 year.

	4
	A shop gives a 20# discount during a sale. Lulu bought a scarf and a T-shirt which cost $25 and $20 respectively. How much did she have to pay altogether?
Lulu has to pay $36 altogether.

	5
	A refrigerator cost $1400 last year. The price was increased by 15# this year. How much does the refrigerator cost this year?

The refrigerator costs $1610. 

	6
	Peter had $120. He spent 40# of the money on a watch and 25# of the remainder on a pen. How much money had he left?

Peter had $54 left.

	7
	Aziz`s monthly salary is $1470 after a 5# increase. Find his monthly salary before the increase.
Aziz`s monthly salary was $1400 before the increase.

	8
	In a class of 40 students, 60# are boys. 50# of the boys and 25# of the girls walk to school. How many students in that class walk to school?
16 students in that class walk to school.


Average

	1
	Devi had $50. She spent 60% of her money on food and 60% of the remainder on transport. How much more did she spend on food than on transport?
She spent $18 more on food than on transport. 

	2
	The price for a box of chicken parts is increased from $5 to $6.50. Express the price increase as a percentage of its original price.  
The price increase is 30# of its original price.

	3
	The price of a television set was reduced from $4000 to $3400. By what percentage was the price reduced?
The price was reduced by 15#.

	4
	A club has 192 members this month. Last month, it has 160 members. By what percentage was the membership increased. 
The membership was increased by 20#.

	5
	Minli , Fanzhi and Aihua shared a sum of money. Minli ‘s share was 40% of the money. Aihua’s share was $4 more than Fanzhi. Fanzhi’s share was $16. How much money did they share?
They shared $ altogether. 

	6
	A company has a staff of 650. 150 of the staff are women and the rest are men. What percentage of the staff will be women if another 50 women and 100 men join the company?

25 % of the staff will be women then.  

	7
	Siti reads 24 pages of a story book a day. After 5 days, she has completed 40% of the story book. How many pages were there in that storybook?
There were 300 pages in that storybook.

	8
	A club had a total of 180 male and female members. 40% of them were male members. When more male members joined the club, the percentage of male members increased to 70%. How many more male members joined the club?

180 male members joined the club.


Challenging
	1
	Group A and Group B had the same number of children. 20# of the children in Group A were girls. There were 40 boys in Group A. There were 44 boys in Group B. How many per cent of the children in Group B were girls?   

12# of children in Group B were girls.  

	2
	There were 45 pupils in a room. 40# of the pupils were boys and the rest were girls. When some boys left the room, only 10% of the remaining pupils were boys. How many boys left the room?

15 boys left the room.

	3
	Aixin spent 20# of her money on a pair of shoes. She spent 40# of the remainder on some books. She spent a total of $208. How much money did she have at first?
Aixin had $400 at first.

	4
	A hall has 600 seats. 10% of the seats are seats with armrest while the rest are normal seats. How many seats with armrest must be added so that the number of seats with armrest will increase to 20%?
75 seats with armrest must be added.

	5
	Betty and Jean had $510 altogether. Betty gave 40% of her money to her father and Jean spent 75% of her money. Then they had an equal amount of money left. How much money had Jean at first?
Betty had $360 at first.  

	6
	There were 180 tomatoes and carrots in a basket at first. 60# of the tomatoes and 50# of the carrots were used for cooking. There were 80 tomatoes and carrots left in the basket. How many tomatoes were there at first?
There were 100 tomatoes at first. 

	7
	Chongfu withdrew 45# of his savings from the bank. He used 80# of the money to buy a LCD television. If the television cost $1800, how much savings did he have?

Chongfu had $5000 in the bank at first.

	8
	A club had 60 members. 70# of them were males. When another 20 new members joined the club, the percentage of members who were males was reduced to 60#. How many of the new members were males?
6 of the new members were males.








